
The Radio Amateurs' Exam is
divided into two parts: the first
assesses knowledge of the licencing
conditions while the second assesses
technical competence. Both
sections require a pass or the exam
will be failed as a whole.
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The questions given here should
be answered without any reference
to textbooks or other teaching
aids. Don't cheat as you won't
be able to when you sit the real
exam!
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The treguency
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of the current
represented by this

sine wave is.

a) 16 Hz
70.7 mA

b) 11 Hz
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a) 500K ohms

b) 200 ohms

c) 5000 ohms
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Simply ring or tick the correct
answer options. Look in next
month's issue of Ham Radio
Today to see if you would have
got your ticket.
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5 mA is to
be used as a vohmeter
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